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1 7wyl
KEF A — —bye 5
bye — — B A B 6
fiffi E — —bye 7
A E — — A A 8
2 7y
REK A — — bye 5
bye — — IR B 6
HKkE C — —bye 7
HEVIEMN D — —1#H A 8
3 7y
K72 A — bye 5
bye — — K4 B 6
Kpgik D — —bye 7
H#r B — — FERKF B 8
4 77wyl
i A — —bye 5
bye — — [ B 6
KR¥E E — — bye 7
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5 7 v/
i A — —bye 5
bye — — Kk B 6
SR C — —bye 7
e — — KE¥F C 8
6 7 ny/
NE B — —bye 5
bye — — & C 6
A D — —bye 7
BEARKE D — — kA 8
7 7y
ra A — —bye 5
bye — — KR#K B 6
HFEVIFEM C — —bye 7
Kip= F o — — il C 8
8 7 uy/
wHA A — —bye 5
bye — — L8 C 6
KESF D — —bye 7
L C — — filii B 8
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9 7 my)

$£130 3FXAR=EK

—bye
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13 77 mny)
SETR A — bye 5
bye — — Kf*7= B 6
8 D — —bye 7
& C — —[xFg B 8
14 7 ny)
H#rT A — — bye 5
bye — — H»EVTEN B 6
fifi D — —bye 7
KRR E — —HKS A 8
15 7 my/
SR A — —bye 5
bye — — 1t B 6
R C — — bye 7
FERY D — — X+<F B 8
16 7 my/
LR A — —bye 5
bye — — KR#KR C 6
EHA C — — bye 7

A E — — i A 8
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2 bye
3 K% D

4 [fEEr B
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—bye
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2 bye
3 JNE D
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